Title1 'Chapter 16 Examples';

Title2  'Cluster Analysis of Chemical Data';

Data Cluster;

length symboltype $7. ;

Infile 'f:\MultivariateAnalysis05x\AfifiData\Cluster.txt';

Input Type $ SYMBOL $ OBSNO ROR5 DE SALESGR5 EPS5 NPM1 PE PAYOUTR1;

   symboltype= trim(symbol)||type;

   payoutr1x10= payoutr1*10;

   dex10= de*10;

   RUN;

   *Proc contents Data= Cluster;
   Proc print Data= Cluster;

   run;

   proc univariate data= cluster plot normal;

   run;

   Data Cluster2;

   array score(7) ROR5 DEx10 SALESGR5 EPS5 NPM1 PE PAYOUTR1x10;

   set cluster;

   Do i= 1 to 7;

   

value= score(i);

   

Measure= vname(score(i));

   

output;

   end;

   run;

   Proc Print data= cluster2;

   run;

   Proc plot data= cluster2;

   *by symbol;
   plot value*measure;

   run;

   proc freq data= cluster2;

   tables measure;

   run;

Proc sort data= cluster2;

By measure;

Proc boxplot data= cluster2;

   plot value*measure;

   run;

   proc sort data= cluster2; by symbol;run;

proc gchart data= cluster2;

   by symbol;   

  
star measure/ sumvar= value type= mean;

   run;

************************************;   

   Proc standard data= cluster out= cluster3 mean= 0 std= 1;

   Data cluster4;

   set cluster3;

   array score(7) PE ROR5 DE SALESGR5 EPS5 NPM1 PAYOUTR1; 

   symboltype= trim(symbol)!!type;

      Do i= 1 to 7;

   value= score(i);

   name= vname(score(i));   

   output;

   end;

   run;

   Proc print data= cluster4 (obs= 40);run;

   proc sort data= cluster4; by name; run;

   proc boxplot data= cluster4;

   plot value*name;

   run;

   **********************************************;
   * start cluster analysis                    **;
   **********************************************;
   Proc cluster data= cluster outtree= clustertree method= centroid  standard nosquare ;

   Var PE ROR5 DE SALESGR5 EPS5 NPM1 PAYOUTR1;

   ID symboltype;

   run;

   proc tree data= clustertree out= treeout nclusters= 4;

   run;

   Proc print data= treeout; run;

   proc print data= clustertree;

   run;

   **********************************************;
proc sort data= cluster2;

by symboltype;

Proc sort data= treeout;

by _name_;

data display4;

merge cluster2 treeout (rename= (_name_= symboltype));

by symboltype;

clustersymboltype= left(clusname||symboltype);

proc print data= display4;run;

proc sort data= display4; by clustersymboltype;

proc gchart data= display4;

   by clustersymboltype;   

  
star measure/ sumvar= value type= mean;

   run;

   proc fastclus data= cluster maxclusters= 4 out= fast l= 1;

     Var PE ROR5 DE SALESGR5 EPS5 NPM1 PAYOUTR1;


 Proc print data= fast;

   run;

